What is the largest number of cents you can have in coins yet be unable to pick a subset with a total value of 50 cents?��������������


Let A be the number you are passed.  a, b, c are in arithmetic sequence and sum to A.  If the ratio of c to a is 18:5, what is the value of c?���������������


Let B be one-third of the number you are passed.  If B points are selected on the circumference of a circle, and a line is drawn through each pair of these points, what is the maximum number of points at which these lines can intersect in the interior of the circle?


�
A cube is painted on 5 sides and then cut into 125 congruent cubes.  How many of these smaller cubes will be painted on 2 sides?��������������


Let A be the number you are passed.  A circle of radius A is inscribed in a square.  A circle is then inscribed between the central circle and each of the vertices, tangent to the larger circle and two sides of the square.  If this process is continued indefinitely, with progressively smaller circles heading towards each vertex, what is the sum of the circumferences of all the circles?������������


Let B be one-sixth of the greatest integer less than the coefficient of p in the number you are passed.  How many distinguishable regular tetrahedrons could be generated by painting each of the faces one of B colors, using at most 2 of the B colors?


�
An arithmetic series a, b, c has primes for all three terms.  What is the second smallest possible value of c?��������������


Let A be the number you are passed.  How many non-congruent triangles whose sides are integers have perimeters less than A?���������������


Let B be twice the number you are passed.  What is the largest product that can be made from a group of consecutive natural numbers which add up to B?


�
1299 digits are used to number a book starting on page one and numbering consecutively.  How many pages does the book have?������������


Let B be the number you are passed.  Let C be the remainder when B is divided by 12.  At how many minutes past C o’clock do the hour and minute hands of a clock first meet?�����������������


Let A be the product of the numerator and denominator in the fraction you are passed.  If A is the difference between the areas of two squares, each of which has integer side lengths, what is the minimum side length of the larger square?


�
Two lawn mowers can mow a lawn in 2 hours and 3 hours, respectively.  When they work together, they mow one eighth of a lawn less per hour than if they worked separately.  How many hours will it take them working together to mow a lawn?�������������


Let A be the number of integers between the numerator and denominator (inclusive) of the fraction you are passed.  In how many ways can you arrange A books, 2 each of � EMBED Equation.2  ��� colors, next to one another on a shelf?������������


Let B be the number you are passed.  What is the distance from the point (B, 5) to the line � EMBED Equation.2  ���?


�
In the data set  4, 3, 7, 10, 8, 9, 5, x, y, where x is the mean of the data set and y is the median, what is the maximum absolute difference of x and y?��������������


Let A be the number you are passed.  What is the largest value of k for which � EMBED Equation.2  ��� will touch the x-axis?��������������


Let B be the numerator of the fraction you are passed.  Tom is making strawberry milk.  Currently, he has B milliliters of milk which is 40% strawberry syrup by volume.  If Tom likes his milk to be 90% strawberry, what volume of  pure strawberry syrup needs to be added?


�
Two numbers have a greatest common factor of 36 and a least common multiple of 144.  What is the maximum possible value of the smaller number?��������������


Let A be the number you are passed.  In how many zeros does A! end?����������������


Let B be the number you are passed.  How many factors of 73400 are divisible by B?


�
In the arithmetic sequence a, b, c  the ratio of b to a is 3, and the sum of the three is 63.  What is the value of c?��������������


Let A be the number you are passed.  What is the sum of the infinite geometric series with first term A and common ratio � EMBED Equation.2  ���?��������������


Let B be the number you are passed.  The natural numbers from 1 to B are written on a blackboard, one of which is erased.  The average of the remaining numbers is � EMBED Equation.2  ���.  What number was erased?


�
Two ordinary 6-sided dice are colored red and blue, respectively, and rolled.  What is the probability that the value on the red die is less than the value on the blue die?��������������


Let A be the number you are passed.  Given a bag of red and green marbles, the number of marbles in the bag is the denominator of A, while the number of red marbles in the bag is the numerator of A.  What is the probability that when 3 marbles are drawn at the same time, exactly 2 of them will be red?��������������


Let B be twice the number you are passed.  Two teams are competing in an oral round, where exactly one of the two teams will correctly answer each question.  The probability that team X gets a given question is B.  What is the probability that they will correctly answer 3 out of 4 questions?


�
What is the surface area, in square centimeters, of a cube inscribed in a sphere of volume 972p cubic centimeters?���������������


Let A be the number you are passed.  What is the maximum volume of a rectangular box with surface area A?��������������


Let B be the square root of the number you are passed.  What is the area of a triangle with sides of length 2B, 3B, and 4B?


�
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